Group 4 Homework 2.3

Chapter 15’s problems were on different methods of measuring flow. They key information here
is to mark what you know and then use the specific equation for the type of measurement device. Then
it is important to do the work in excel or a similar program so that iterations can be completed. Doing
these by hand would be a nightmare. Chapter 16’s problems focused on reaction forces and forces
caused by the movement of a fluid. The most important piece here was similarly to statics, free body
diagrams. Once a correct free body diagram is drawn the problems become much easier to understand
as well as solve.
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Al Q | gamma mercury | gamma linseed g D
0.1258 2.227 844.9 58 32.2 | 0.40021686

C A2 d Beta V2 Re C calculated | h calculated
0.580 | 0.100 0.357 0.892 22.246] 20682.995 0.955 0.618
0.590 ] 0.099 0.356 0.889 22.388| 20748.642 0.955 0.618
0.600 | 0.099 0.355 0.886 22.531] 20814.777 0.955 0.618
0.610 | 0.098 0.354 0.884 22.675| 20881.384 0.955 0.618
0.620 | 0.098 0.352 0.881 22.821| 20948.444 0.955 0.618
0.630 | 0.097 0.351 0.878 22.968| 21015.942 0.955 0.618
0.640 | 0.096 0.350 0.875 23.117| 21083.860 0.955 0.618
0.650 | 0.096 0.349 0.872 23.267| 21152.182 0.956 0.618
0.955 | 0.078 0.316 0.790 28.381| 23361.454 0.960 0.618
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